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In quadrilateral ABCD, ZC = 72° and £D =
28° The bisectors of ZA and ZB meet in O.

What is the measure of ZAOB?

ts agys ABCD #, ZC = 72° 3k 4D =
28° 2| ZA 3R /B & fg¥raie O ux fied 2|
ZAOB & 51y a1 &7

(a) 36°
(b) 48°
(c) 50°
(d) 54°



In quadrilateral ABCD, the
bisectors of ZA and ZB meet at O
and ZAOB = 64°. ZC + /D is equal

to:

qqUsT ABCD H, ~A 3R /B &
gHfgHeI®, fdg 0 IR fired 8 9u1 ZAO0B
= 64°. /C + /D I &:

(a) 128°
(b) 148°
(c) 116°
(d) 136°
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In the triangle DEF shown below, points A,B
and C are taken on DE, DF and EF respectively
such that EC=AC and CF=BC. If angle

LD=40° then what is L‘ACB in degrees?
aAre few are Prsger A, faig A, B 31T C warer: agam
DE,DF 3ilX EF 9¥ 38 YR forw arv § faF EC=AC
3t cr=Bc I FYoT /D= 40° a9 /4 ACB FT
AT AT FII
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Similar triangles are the triangles which have the same shape, but their sizes may
vary. We denote the similarity of triangles here by ‘~’ symbol.

AT o 98 feer § e srpfa gamer &, dffer o1& 3meR et & w&a B
sﬂwﬁmaﬁrmaﬁ”’#a&ﬁﬁ%l

two triangles AABC and AXYZ are similar only if,
) LA =2sX,2B=2Yand £2C=«2

i) AB _ BC _ CA _ Perimeter of AABC

. XY YZ ZX Perimeter of AXYZ

i) AREA of AABC_(A_B)2 L (B_C)2 A (ﬁ)z
" Careaornxvz \xvy) “\vz) ~\zx
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Thales's theorem/ded YA

DE |l BC
A ADE ~ A ABC

AD _AE _ DE OR AD _ AE
AB AC BC BD EC




ADII BCII EF

AE _ DF
EB FC




. The perimeters of two similar triangles ABC

and PQR are 78 cm and 46.8 cm, respectively.
If PQ=11.7, then the length of AB is:

& HATY frgsit ABC it PQR & IRATT  shar
78 @t 3it 46.8 &t &1 7l PQ = 11.7, a1 AB 1 e
G

(a) 23.4cm (b) 20cm (c) 24 cm (d) 19.5 cm



AABC~*AQPR and AB=8cm,BC=12cm and
AC=6cm .if ar(AABC):ar(APQR)=16:25, then

RQ is equal to?
AABC ~ AQPR, AB = 8cm, BC = 12cm 3T AC =

6cm . TTc &1T% ol (AABC): &13% ol (APQR) = 16:
25, dF RQ SIS 872

a)12.5cm b)10cm ¢)5cm  d)7.5cm



AABC~*AQPR and AB=8cm,BC=12cm and
AC=6cm .if ar(AABC):ar(APQR)=16:25, then

RQ is equal to?
AABC ~ AQPR, AB = 8cm, BC = 12cm 3T AC =

6cm . TTc &1T% ol (AABC): &13% ol (APQR) = 16:
25, dF RQ SIS 872

a)12.5cm b)10cm ¢)5cm  d)7.5cm



and AB, respectively ,such that ZADE= £B.if
AD=7.6cm,AE=7.2cm,BE=4.2cm and

BC=8.4cm then DE is equal to ?

AABC #, D 3R E, 2N AC 3T AB WX &l fdig
&, o & 2ADE = ¢£B.if AD = 7.6cm, AE =
7.2cm, BE = 4.2cm 3iR BC = 8.4cm < DE
S 82

a)6.3cm  b)5.8cm  ¢)7.4cm d)5.6cm




In AADC ,E and B are the points on the sides
- AD and AC respectively such that
ZABE=2£ADC. if AE=6cm,BC=2cm,BE=3cm and

CD=5cm then, (AB+DE) is equal to?
AADC #, E 31 B &2 AD 3R AC TR feaquraY

foig 38 YhR & Toh LABE = ZADC Tfc; AE = 6¢m,
BC =2cm, BE = 3cm 3{IX CD = 5cm @I, (AB + DE)

fras sUeT g?

a)l4cm b)léecm ¢)49/3 cm d) 46/3 cm



fn AABC , D and E are the points on
- sides AB and BC respectively such
that DE || AC. If AD : DB = S : 3,
then what is the ratio of the area of

ABDE to that of the trapezium
ACED?

AABC H, YGIT3fl AB 3R BC U HHT:
fSg D 3RE ST YsR & f% DE || AC.
gfe AD: DB = 5: 3 8, d ABDE a4l
mﬁ;agﬂjrrr ACED & &A% d &1 3UTd
T 3?

(a)J9:64(b)9:55(c)4:25(d)1:6



. In triangle ABC, DE || BC where D
is a point on AB. DE divides the area
of AABC into two equal parts. Then

DB : AB is equal to

ts s ABC 4 DE || BC for#i D,
AB I} & fdg 2 3k E, AC IR (& fdg
2 | DE, AABC & &3%d &l & 9aT9 JAFN
# fawifora @w<ar @, 9 DB : AB foua

§XTeY 27

(a)v2:(v2+1)(b)Vv2:(V2-1)
() (v2-1):v2(d) (V2 +1):V2



